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Laws of logarithms

As Ioos are deCBS the Iaws of 1ogs are duecﬂy related to the laws of md1ces
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Note: Law 8 is usually referred to as the change of base law.
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1.: Write each of the followmg in the form a = b’: g
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() log, 8 () logy 16;. .'

W) 1og10 10 000 (v1) log; 32}7'_
o (%) logsgo i) Iogv Bl '_ .
:,_;".:ﬁ;(m) 1og9 27 (xw) ot '1-_‘.‘,(xv)j1q'g‘27%-

1083 X

lv) Ifx>0andx¢-1 show that
g 1 gzx

ilogsx .K 30

10 If 310g2J’ 3 3 logz(x + 4) Show that y = S(x + 4)- el
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A sample of radioactive material decay can be modelled by the function:
D(f) = Ae”
where 4 and b are constants and f the time passed in weeks.

Initially, 50g of material is purchased and in 5 weeks has decayed to 25g.
Calculate. exactly, the value of 4 and the value of b.
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